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Compleing the Square Notes

Some quadratic cquations i the form of @+ A +¢ =0 can be slved casily by fatoring.
For exemple,the cquation x* 46 ~16=0 canbe sctored casily o (x-+8)(x=2) =0
o give solutonsof x=—8 and x=2

When a quadratc cquation cannot be fctored using integers,you have two options. You can
s the quadratic formula of you can use & method caled completng the square. When
completing the square i the way 0 2 (when a 1, use the quadratc ormula).

Example 1: Solve x* 48 =10 =0 by complting te squae
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Wete e equstion i the form +8x-10=0

ac he=—c
* +8x=10

The Tt i s row & prfet squre AT H=16
rinomial (PST),s0 factor .

(44 =26

Find T smne oot o ray =26
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T s calalaor o sppravamate he XmE5099
solutons, if necessary

xw1.099 or ~9.099
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